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EE310 – Signals and Systems
Final Examination Spring 2019

Part - 1 (30 pts)

Student ID Name

Section Instructor Signature

Instructions: This part needs to be solved on this sheet, and is to be returned to the exam staff in the first
45 minutes.

Problem 1. Select ALL (upto three) correct choices. Every incorrect answer would earn a penalty
of 2/3 points but the total marks of any multiple choice question will not be less than zero.

(1) Based on the structure of the periodic frequency
domain representation X(·) (period 2π) shown to
the right, which of the following is the best descrip-
tion of the time domain signal?

ω

X(·)

−2π −π π 2π

−9

−7

(a) The time domain signal is discrete-time.

(b) The time domain signal is not periodic in time.

(c) The time domain signal is continuous-time.

(d) The time domain signal is periodic in time.

(2) The convolution
sin 10t

πt
∗ sin 6t

πt
∗ sin 12t

πt

is equal to

(a)
sin 6t

πt
∗ sin 12t

πt

(b)
sin 12t

πt

(c)
sin 6t

πt

(d)
sin 10t

πt
∗ sin 6t

πt

(3) The Fourier transform of the signal y(t), denoted
by Y (jω), is shown to the right. Y (jω) is purely
real. Which of the following statement(s) about
the signal y(t) must be true?

ω

Y (jω)

−30 −20 −10 10 20 30

−7

(a) y(t) is purely imaginary, that is, y(t) = −y∗(t).
(b) y(t) is complex conjugate symmetric, that is, y(t) = y∗(−t).
(c) y(t) is real valued, that is, y(t) = y∗(t).

(d) y(t) is complex valued.
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(4) A discrete-time LTI system with input x[n] and output y[n] is given by

y[n] = x[n] + αx[n− 1] + β x[n− 2]

for some constants α and β. What values of α and β yield a filter with frequency response at ω = 0 of
zero, and frequency response at ω = π of 1?

(a) α = 0 and β = −1

(b) α = −1/2 and β = −1/2

(c) α = 1 and β = 0

(d) α = −1 and β = 0

(5) If the Fourier transform of the signal x(t) = u(t)−u(t−3) is denoted by X(jω) = A(jω)ejB(jω), B(jω)
is given by:

(a) −ω/2
(b) −3ω/2

(c) 3ω/2

(d) 3ω

(6) If y[n] =
n∑

m=−∞
x[m]× δ[−n0 −m], then y[n] equals

(a) x[−n0]u[n− n0]
(b) x[−n0]u[n+ n0]

(c) x[−n0]
(d) x[−n0]u[−n− n0]

(7) If the transfer function for a system is given as H(s) = e2πs

s+5 with ROC Re{s} > −5, then the system

(a) is a non-causal system

(b) is an unstable system

(c) is a causal system

(d) is a stable system

(8) For a stable system with a real impulse response h(t) and system function H(s), which of the following
statement can not be true.

(a) The system has exactly two poles at s = −5 + j3 and s = −5 + j6

(b) The system has exactly two poles at s = −6 and s = +6

(c) The system has exactly one pole at s = −6

(d) The system has exactly one pole at s = +6

(9) A linear time-invariant (LTI) system is given by the following convolution y(t) = sinc(3t) ∗ x(t), where
x(t) is the CT input signal, y(t) is the CT output signal. The system is

(a) a low pass filter.

(b) a high pass filter.

(c) an all pass filter.

(d) a band-pass filter.

(10) For an unstable DT system with a impulse response h[n] and system function H(z), which of the
following statement can not be true.

(a) The system has exactly one pole at z = −2 and is causal

(b) The system has exactly one pole at z = +6

(c) The system has exactly two poles at z = −0.5 and z = −0.8 and is causal

(d) The system has exactly two poles at z = −0.5 and z = +0.5

2



(11) If the Fourier transform of the signal x[n] =
(
1
2

)n
u[n] is denoted by X(ejω),

∫
2π
|X(ejω)|2dω is equal

to:

(a) π/3

(b) 8π/3

(c) 4/3

(d) 4π

(12) A linear time-invariant (LTI) system is given by the following convolution

y(t) = ejπt/4 ∗ x(t),

where x(t) is the CT input signal, y(t) is the CT output signal.

Which of the following is/are true?

(a) The system is a low pass filter.

(b) The system is a high pass filter.

(c) The system is a band-pass filter.

(d) None of the above.

(13) If the output of an LTI system is ejωn + ejω(n−1) for input ejωn and any ω, the discrete-time Fourier
transform of the impulse response of the system is

(a) ejω

(b) 1 + e−jω

(c) 1 + ejω

(d) Cannot be determined using the information provided.

(14) The signal f(t) has Fourier transform denoted by g(ω). The Fourier transform of g(t) is

(a) 2πf(ω)

(b) 2πf(−ω)

(c) 1
2πf(ω)

(d) f(−ω)

(15) For a signal x(t) shown to the right, choose the
magnitude of its Fourier transform from the four
candidates |A(jω)|, |B(jω)|, |C(jω)| and |D(jω)|
below. Circle the correct choice. (The figures are
not to any particular scale and the question can be
answered based on the general shapes given)

t

x(t)

ω

∣∣A(jω)
∣∣

ω

∣∣B(jω)
∣∣

ω

∣∣C(jω)
∣∣

ω

∣∣D(jω)
∣∣
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EE310 – Signals and Systems
Final Examination Spring 2019

Part - 2 (70 pts)

Problem 2. (20 pts)

(a) (5 pts) Determine the Fourier transform X(jω) of the signal x(t) shown in the Figure below.

t

x(t)

−3 −2 −1 1 2 3

−1

1

Figure 1: Plots of X(jω).
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(b) (8 pts) Using the result of part (a) or otherwise, determine the Fourier transform Y (jω) of the signal
y(t), wherey(t) is of the form y(t) = a(t)ejb(t), where a(t) and b(t) are shown in Figure 1.

(Hint: First determine the Fourier transform corresponding to the signal a(t) and use the property of
Fourier transform to find the Fourier transform of y(t).)

t

a(t)

−3 −2 −1 1 2 3

−1

1

· · ·

· · ·

t

b(t)

−3 −2 −1 1 2 3

−1

1

Figure 2: Plots of A(jω) and B(jω).
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(c) (3 pts) The following differential equation relates the output y(t) of causal continuous LTI system to
the input x(t)

dy(t)

dt
+ 3y(t) = x(t)

Determine the frequency response H(jω) = Y (jω)/X(jω).

(d) (4 pts) If the input to the LTI system given in part (c) is x(t) = e−3tu(t), determine Y (jω) and y(t).
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Problem 3. (10 pts) For a signal z(t) shown below whose Fourier transform is denoted by Z(jω), determine the
following: (show your working)

Hint: You do not need to evaluate the Fourier transform Z(jω) to answer this question. You can use the
properties of the Fourier transform and synthesis/analysis equations.

t

z(t)

−4 −3 −2 −1 1 2 3

1

2

(a) (2 pts) ∠Z(jω)

(b) (3 pts)

∫ ∞
−∞

Z(jω)ejω/2 dω

(c) (5 pts)

∫ ∞
−∞

Z(jω) ejω
2 sin(2ω)

ω
dω
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Problem 4.

(a) (8 pts) Suppose we wish to design a discrete-time LTI system which has the property that if the input
is

x[n] =

(
1

2

)n
u[n]− 1

4

(
1

2

)n−1
u[n− 1],

then the output is

y[n] =

(
1

3

)n
u[n].

Find the impulse response h[n] of the LTI system that satisfies the property mentioned above.
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(b) (5 pts) Consider a discrete-time LTI system with a real impulse response h[n] and a frequency response
H
(
ejw
)
. If the input to the LTI system is

x[n] = cos
(π

2
n
)

+ sin
(π

4
n
)
,

the output is observed to be

y[n] = 0.5 cos
(π

2

(
n+

π

4

))
.

Do we have enough information to determine H
(
ejπ/2

)
(both phase and magnitude)? If your answer

is yes, determine (with proper justification) H
(
ejπ/2

)
. If your answer is no, provide clear reasoning.
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(c) (7 pts) Let x[n] be a discrete-time signal with Fourier transform X
(
ejw
)
. Let

y[n] =


3 x
[
n
2

]
n is even

2 x
[
n−1
2

]
n is odd

Determine Y
(
ejw
)

as a function of X
(
ejw
)
.
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Problem 5.

(a) (4 pts) Consider a continuous-time causal LTI system with an impulse response h(t). For the unknown
impulse response, we are told that the signal h(t)e3t is absolutely integrable. Given this information,
Prof. Langdon claims that the system must be stable. Do you agree or disagree with the professor?
Provide clear reasoning to support your answer (No credit without correct justification).

(b) (2 pts) Consider an LTI system whose input-output relationship is governed by the differential equation

d2y(t)

dt
+ α

dy(t)

dt
+ α2y(t) = 2

dx(t)

dt
− x(t),

where α is some real number. Use the derivative property of the Laplace transform to determine the
system’s transfer function H(s) = Y (s)

X(s) .

(c) (4 pts) If the system in part (b) is known to be causal, what condition does α have to satisfy to ensure
that the system is stable?
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Problem 6.

(a) (4 pts) Let x[n] =
(
−1

2

)n
ej

π
4
nu[n]. Compute the Z-transform along with the associated ROC.

(b) (6 pts) Consider a signal x[n] given by

x[n] =


(
1
2

)n
u[n] n is even

0 otherwise

Compute the Z-transform along with its ROC. Also indicate all zeros and poles.
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